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SUBJECT - ENGLISH M.M. - 20

Q1. Choose the appropriate option:
A.___Tsuggestan idea?
Ought May Will
B. You ___ watch this film.
Might must shall
Q2. Give the meaning for:
a) Ninny
b) Surge
c) Commotion
d) Flustered
e) Gallant
f) Dismay
Q3. Read the lines from the poem and answer the questions:
My caste! Know thou there is a caste
Above my caste or thine,
Brahmin and Rajput are but dust
To than immortal line
a) Who says these lines? To whom is it spoken to?
b) What does he say after these lines
Q4. Answer these questions briefly:
a) Why was the train so crowded?
b) How did the children got separated from Grace?

c) How did the girl react when the man said that he worked at the

restraunt nearby?
d) What was the girl’s opinion about the high society?
e) What is no- man's land?
Q5. Give the meaning and example of the give idioms:
a) Hanky Panky
b) Call a spade a spade

SUBJECT - SCIENCE M.M. - 20

Q1 Write the reactivity series of metals in decreasing order.
Q2 Draw a flow sheet diagram of nitrogen cycle.

Q3 Write the various differences of plants cell and animal cell.
Q4 Is write the various characteristics of an ideal fuel.

Q5 Calculate the pressure exerted by a man weighing 50 newton . contact area

is 10 meter-square?



SUBJECT - S.S.T. M.M. - 20.

Q1. What are the different layers of soil?

Q2. Explain process of a bill how becomes a law.

Q3. How did the British rule affect the Indian wavers?.

Q4. Do you agree that the Dowry prohibition act has failed to bring about the necessary
change in the society? Support your answer with appropriate examples.

Q5. How is the president of India elected?

SUBJECT — MATHS M.M. - 20

Q1. Evaluate (204)2.

Q2. Factorise: x*+-5x + 9.

Q3. The length of a rectangular garden is 3 m more than its breadth if the
perimeter is 214 m find the length and breadth of the garden.

Q4. The angles of a triangle are in the ratio 8:4:3 find the angles.
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